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PA Keystone Algebra 1: Rolando's Driving

15. Rolando drives at least 40 miles but less than 60 miles each week.

A. Graph the compound inequality representing all of the possible distances
Rolando could drive for 8 weeks.

Rolando’s Driving for 8 Weeks
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40 80 120 160 200 240 280 320 360 400 440 480 520 560 60

Miles Driven

B. Explain why you chose to use the symbols you used for the endpoints of the
compound inequality in part A.
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PA Keystone Algebra 1: Rolando's Driving

15. Continued. Please refer to the previous page for task explanation.

Rolando buys at least 8.5 but no more than 11 gallons of gas each week. The
price of gas has ranged from $2.40 to $2.65 per gallon each week.

C. Write an inequality to model all of the possible amounts of money (m) Rolando
spends on gas each week. Show or explain all your work.
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PA Keystone Algebra 1
Renaldo's Driving

Assessment Anchor this item will be reported under:
A1.1.3 Linear Inequalities

Specific Eligible Content addressed by this item:
A1.1.3.1.1 Write or solve compound inequalities and/or graph their solution sets on a number line
(may include absolute value inequalities).

Scoring Guide:
Score In this item, the student —

4 Demonstrates a thorough understanding of writing compound inequalities and
graphing their solution sets on a number line by correctly solving problems and
clearly explaining procedures.

3 Demonstrates a general understanding of writing compound inequalities and
graphing their solution sets on a number line by correctly solving problems and
clearly explaining procedures with only minor errors or omissions.

2 Demonstrates a partial understanding of writing compound inequalities and
graphing their solution sets on a number line by correctly performing a significant
portion of the required task.

1 Demonstrates minimal understanding of writing compound inequalities and
graphing their solution sets on a number line.

0 The response has no correct answer and insufficient evidence to demonstrate any

understanding of the mathematical concepts and procedures as required by the
task. Response may show only information copied from the question.

Non- B — Blank, entirely erased or written refusal to respond
scorables F — Foreign Language
K - Off-task

U — Unreadable

Top Scoring Student Response And Training Notes:

Score Description
4 Student earns 4 points.
3 Student earns 3.0 — 3.5 points.
2 Student earns 2.0 — 2.5 points.
1 Student earns 0.5 - 1.5 points.
OR

Student demonstrates minimal understanding of writing compound
inequalities and graphing their solution sets on a number line.

0 Response is incorrect or contains some correct work that is irrelevant to the
skill or concept being measured.
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PA Keystone Algebra 1: Rolando's Driving

A.
What? Why?
Rolando’s Driving for 8 Weeks
At le——t—()———————>
40 80 120 160 200 240 280 320 360 400 440 480 520 560 600
Miles Driven '

(1 score point)
1 point for correct answer
OR %2 point for correct endpoints

What? Why?

I chose a solid (closed) circle at 320 since Rolando would drive greater than
or equal to 8 x 40 = 320 miles. I chose a open circle at 480 since Rolando
would drive less than, but not equal to, 8 x 60 = 480 miles.

OR equivalent

(1 score point)
1 point for complete explanation
OR %2 point for correct but incomplete explanation

What? Why?

20.40<m <29.15 | Minimum: 8.5 gallons x $2.40 per gallon = $20.40

OR equivalent | Maximum: 11 gallons x $2.65 per gallon = $29.15

OR

The least amount Rolando could pay for gas is when he buys 8.5 gallons at
$2.40 per gallon, which is $20.40. The greatest amount Rolando could pay
for gas is when he buys 11 gallons at $2.65 per gallon, which is $29.15. Since
Rolando could pay either of these amounts, I used the less than or equal to
symbols.

OR equivalent

(2 score points)
1 point for correct answer
OR ¥z point for partially correct answer (1 calculation error or 1 sign error)
1 point for complete support
OR % point for correct but incomplete support
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PA Keystone Algebra 1: Rolando's Driving, Anchor Set A-1

16. Rolando drives at least- 40 miles but less than 60 miles each week.

A. Graph the compound inequality representing all of the possible distances

Rolando could drive for 8 weeks. .
X408 x 4608
XZ320 x#%180

Rolando’s Driving for 8 Weeks

| ] ] 1 L] 1 1
[ [ [] i [] s

40 80 120 160 200 240 280 320 360 400 440 480 520 560 600
Miles Driven

gy 0 — 3 = - gy = ———

B. Explain why you chose to use the symbols you used for the endpoints of the
compound inequality in part A.

T chovse +o use a closed do¥ Forh
Mhe eguarfon x 27220 becavve oF 1“ <
in equality sfgn. I¢ the sign has @ 1ING
vndernegtin +hc_qm,ph n.eev\t.fq do&zd
got. Tosed on open dot for "jhe second
equolhion becdvse the Tregualiig sfjr\. )
hag n6 e vnder 7+, LorD2 0
| >0l =@

4 A. 1 point — correct answer. The graph has appropriate endpoints (closed dot, open

dot) at the correct places (320, 480) with a line between them.
B. 1 point — complete explanation of the symbols that are appropriately used for the
corresponding endpoints. The closed dot is clearly associated with the “40/320” end of the

inequality and the open dot is clearly associated with the “60/480” end of the inequality.
Consider “equation” a blemish.

C. 2 point — correct answer and complete support (“2.65 * 11” and “2.40 « 8.5 or
equivalent is sufficient support). Note that a variable other than m is acceptable in the
inequality. ' :
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PA Keystone Algebra 1: Rolando's Driving, Anchor Set A-1

16. Continued. Please refer to the previous page for task explanation.

Rolando buys at least 8.5 but no more than 11 gallons of gas each week. The
price of gas has ranged from $2.40 to $2.65 per gallon each week.

C.. Write an inequality to model all of the possible amounts of money (m) Rolando
spends on gas each week. Show or explain all your work.

2,65 I = %2 8.40* &5

(29152 x = 20.%

po=—s3
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PA Keystone Algebra 1: Rolando's Driving, Anchor Set A-2

Rolando drives at least 40 miles but iess than 60 miles each week.

Ty

A. Graph the compound inequality representing all of the possible distances Rolando could drive for 8 weeks. T

At

Rolando's Driving for 8 Weeks

<} Il Il 1 ! 1 1 & i ! fl D ] 1 L
- v +—»

40 80 120 160 200 240 280 320 360 400 440 480 520 560 600
Miles Driven

B. Explain why you chose to use the symbols you used for the endpoints of the compound inequality in part A.

f Rolando drives at least forty mites he could drive forty miles or more.
iTherefore he can drive forty miles so that point should be included using
a colored point. However, if Rolando drive over forty miles but less than
isixty he could drive any number of miles in between but not sixty. If
Rolando does not drive sixty miles this point should not be included,
therefore a white dot should be used.

480/ 1000

) f ta e

but no more than 11 gallons of gas each week. The price of gas has ranged from $2.40 to $2.65 per gallon sach week.

Rolando buys at least 8.5
C. Write an inequality to model all of the possible amounts of money {m) Rolando spends on gas each week. Show or explain all your work.
m=2204andm<29.15

8.5x2.40=20.4 is the least amount of money Rolando would spend.
11x2.65=29.15 is the most amount of money Rolando would spend.

144/ 1000

4 A. 1 point — correct answer.

B. 1 point — complete explanation (colored point and white dot appropriately
associated with the corresponding endpoints). Note that it is OK to correctly use 40 and 60

instead of 320 and 480.
C. 2 points — correct answer and complete support. Note that “and” is required for this
inequality to be correct.
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PA Keystone Algebra 1: Rolando's Driving, Anchor Set A-3

Rolando drives at least 40 miles but less than 60 miles each week.

A Graph the compound inequality representing all of the possible distances Rolando could drive for 8 weeks.

Rolando's Driving for 8 Weeks |

— i N N ] ! & 5 . : 2T 1 Il .

] !
T T T ad _— I T

40 80 120 160 200 240 280 320 360 400 440 480 520 560 600
Miles Driven

B. Explain why you chose to uée the symbols you used for the endpoints of the compound inequality in part A.

I chose to use the colored in circle at the 320 mile mark because the
problem said that he drove at least 40 miles a week for 8 weeks, This
imeans that Rolando drove 320 miles or more during an 8 week time
period. A colored in circle is what would represent that. On the other
hand, i used and open circle at the 480 mile mark. The problem said
that he drove less than 60 miles a week for 8 weeks. This means that he
couldn't have diven 480 miles in 8 weeks, only less thet that. The open
circle would represent that.

516 /1000

Rotando buys at least 8.5 but no more than 11 gallons of gas each week. The price of gas has ranged from $2.40 to $2.65 per gallon each week.
C. Write an inequality to model all of the possible amounts of money (m) Rolando spends on gas each week. Show or explain all your work.

8.5%2.40s11%2.65

wrote this inequality because it shows all the possible amounts of
money he spends on gas each week. 8.5 times 2.40 would be the least
amount of gas he could get for the least amount of money. 11 times

65 is the most amount of gas he could get for the most amount of
imoney. Therefore, he could spend any where between 8.5 times 2.40
and 11 times 2.65 on gas.

379/1000

3 A. 1 point — correct answer.

B. 1 point — complete explanation (colored in circle and open circle).
C. 1 point - incorrect answer (no variable in the inequality), complete support. Note
that either the work or the explanation is complete; both are not required.
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PA Keystone Algebra 1: Rolando's Driving, Anchor Set A-4

16. Rolando drives at least 40 miles but less than 60 miles each week.

A._ Graph the compound inequality representing all of the possible distances
Rolando could drive for 8 weeks. Y Y .

A0
A& -(3/

v10 480

Rolando’s Driving for 8 Weeks:

<1 L 1 [] [} [} 1 ‘ ¥ [l [T . 0. Y [ [] 1 %
| T T ) LI | 1 e T 7

40 80 120 160 200 24(-1_280 320 363_ 400 440 480 séo 56:0 600
Miles Driven

% :.\—;'720 Xé' LW?O

B. Explain why you chose to use the symbols you used for the endpoints of the
compound inequality in part A.

'\;n Hq& S“.ve/z\-“Qof m‘((oq (_Q,]( |eq5¥:‘1‘0m\%

TRl

A’ S\Aﬁﬂ&%‘}ﬁ '\’_Lo amonny is Ceates H\qn, oc
equl 1o and hen geaphed, Yhat symbol 55 o
\:°’f ',”1:‘3 ‘m(:o(‘mo("}‘uoﬂ alse Slq*’ecl -3[Lq\‘- he drove.
\lﬁi_i\m 60#.\6_5”' lz_ss H:an lmecm;,19 qnw/:’numbaf‘

‘Dblov IL.: 5P.¢C..‘Q‘.£J ﬁumba: /”.\c_ 5\,)"1'0;3”0 {'nm{pém‘“d
less Hhan, 15 SO " when 3 (‘qpl%A. | |

3 A. 1 point — correct answer.
B. 1 point — complete explanation (even though “°” appears to be open, the student has

clearly delineated it from the open circle used, “o0”).
C. 1 point — incorrect answer (missing “and” is not considered partially correct),
complete support.
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PA Keystone Algebra 1: Rolando's Driving, Anchor Set A-4

16.  Continued. Please refer-to the previous page for task explanation.

Rolando buys af least 8.5 but no more than 11 gallons of gas each week. The
price of gas has ran ed from $2.40 10 32. 65 pér galion each week.

C. Write an inequality to model all of the possible amounts of maney (m) Rolando
spends on gas each week, Show@explam all your work.

G( ‘l’o (e &Q{,s(,n)t O\a,“OﬂSéurc_}rfscd>
]puxjs o \east 8.5 ga\\ons

regrp ¥4l

\OV\\/ Nno Mace )f\\an H 3(1”0":‘7
rig\(‘e.aqd\

X/ 8 S bt XLJ |
W@O (epCesent posste amaals 2 @ 4

o ’137&55
'g;;';f* = a ¥ ¥ Moot

M 26_‘5-")
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PA Keystone Algebra 1: Rolando's Driving, Anchor Set A-5

Rolando drives at least 40 miles but less than 60 miles each week.

A. Graph the compound inequality representing alf of the possible distances Rolando could drive for 8 weeks.

Rolandd's Drlvmg fof 8 Weeké —

-ttt
40 80 120 160 200 240 280 320 360 400 440 480 520 560 600
Miles Driven

B. Explain why you chose to use the symbols you used for the endpoints of the compound inequality in part A.
choose to put a solid dot on the 40 because he drives at least 40
miles. Because it is "at least,” he can drive exactly 40 miles. The sign
would be grater than or equal to. | put an empty dot on the 60 because

he drives "less" than 60 miles each week. Since it is less than, he
cannot drive exactly 60 miles. The sign would bs less than.

341/1000
Rolando buys at Ieést 8.5-but no more than 11 gallons of gas each week. The price of gas has ranged from $2.40 to $2.65 pér galion each week.

C. Write an inequality to model all of the possible amounts of money {(m) Rolando spends on gas each week. Show or explain all your work.

2]

gallons * price) = x < (gallons * price)

. T e — e

(8.5x2.40)=x < (11 x2.65)
204<x<29.15

76/1000

2 A. 0 points — incorrect answer. Note that the only partial credit available for the

graph is for correct endpoints (320 and 480).
B. 1 point — complete explanation (solid dot and empty dot at 40 and 60, the

endpoints used in part A).
C. 1.5 points — partially correct answer (one sign error, “<” instead of “<”),

complete support.
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PA Keystone Algebra 1: Rolando's Driving, Anchor Set A-6

16. Rolando drives at least 40-miles but less than 60 miles each week.

A. Graph the compound inequality representing all of the possible distances
Rolando could drive for 8 weeks.

Rolando’s Driving for 8 Weeks

40" 80 120 160 200, 240 280 320 360 400 440 480 520 560 600
Miles Driven

UHO £ X =D de BIAOL K £956

B. Explain why you chose fo use the symbols you used.for the endpoints of the
compound inequality in part A.

T e Y0 ose Ye £ sign pecouse

- Pv Ecué Rolondo Arwes 6 lacet Yoiles
O weel, o O3 ek \nears greedes +han, o
|equad o, 6nd & wos greasker Yren oc equad 4o
O, “Tren I uSed ~Hne £ =i bcco_use
&)\OY\Q‘Q 0\’0\)&, \CSb —H\OJ\ (GO vl \&s ey

weelt, 30, %, had Yo be less e\ Gomites, T
> s T T opd YOL v 240,

2 A. 0.5 point — correct endpoints; the line is incorrectly extended below 320.
B. 0 points — incorrect explanation (explains “<” and “<” signs used instead of the

open and closed symbols).
C. 2 points — correct answer and complete support.
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PA Keystone Algebra 1: Rolando's Driving, Anchor Set A-6

16. Continued. Please refer to the previous page for task explanation,

+ N = Iy —_ - o — =

Rolando buys at least 8.5 but no more than 11 gallons of gas each week. The
price of gas has ranged from $2.40 to $2.65 per gallon each week,

" C. Write an inequality to model all of the possible amounts of money (m) Rolando
spends on gas each week. Show or explain all your work.,

.5 £ [3 £ W\ €godomsiper weex)
ég 4 & L oL J';’(afﬁpnge. pes q,cp_x\u\\

&, . LD t265:40 a(.6sd= 12045

005,00 L o L 120,15 Grie S qois acd
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PA Keystone Algebra 1: Rolando's Driving, Anchor Set A-7

Rolando drives at least 40 miles but less than 60 miles each week.

b

A. Graph the compound inequality representing all of the possible distances Rolando could drive for 8 weeks.

-ttt —t
40 80 120 160 200 240 280 320 360 400 440 480 520 560 600
Miles Driven

B. Explain why you chose to use the symbols you used for the endpoints of the compound inequality in part A.
| used a closed dotforthe 40x8=320 because it said at least so it
will be greater than or equal to the 320. [used a open dot for the

80x8=480 because it said Rolando drives less than the 60 miles
rach week

247 11000

Rolando buys at least 8.5 but no more than 11 gallons of gas each week. The price of gas has ranged from $2.40 o $2.65 per gallon sach week.
C. Write an inéquality to model all of the possible amounts of money (m) Rolando spends on gas each week. Show or explain all your work.

11x2.65=m
11x240=m
10x2.65=m
10x2.40=m
Ox265=m
9x2.40=m
8.5x240=m
8.5x2.65=m

| used the numvers 8.5 through 11 because he uses &t least 8.5
lgallons but at most he uses 11 gallons. | used to of each number though
because there were two possible prices to use. m represents the amout
of money he would spend per week with the amout of money per gallon
and gallons he puts in. To figure out how many for other weeks you
would just times m by how many weeks.

464 /1000

2 A. 1 point — correct answer.
B. 1 point — complete explanation. \

C. 0.5 point — no answer (inequality) is given, correct but incomplete support (extremes
are not identified).
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PA Keystone Algebra 1: Rolando's Driving, Anchor Set A-8

26. Rolando drives at least 40 miles but less than 60 miles each week.

A. Graph the compound inequality representing all of the possible distances
Rolando could drive for 8 weeks.

Rolando’s Driving for 8 Weeks

,.......tu..’\,..\

40 80- 120 160 200 240 280 320 360 400 440 480 520 560 600
Miles Driven

B. Explain why you chose to use the symbols you uséd for the endpoints of the
compound inequality in part A,

T chose 4o put Hae

hroeler on 320mles Cabecavse
Rolando will drt ye ot least M T pu?Lﬂq
Podenthese, onthe HYgOmile mary
becaus. RoloNde Ry (! newer
receh Hhod P,

2 A. 1 point — correct answer, using bracket/parenthesis notation. A bracket must be

used to correspond to the closed circle and a parenthesis to correspond to the open circle.
The bracket and parenthesis must be going in the correct direction, as seen in this response.
Note that the bracket and parenthesis are directional so a bold or shaded line may or may not

be in between. Also note that if the bracket and/or parenthesis are incorrectly used, student
can still potentially earn 0.5 point for correct endpoints.

B. 1 point — correct explanation.

C. 0 points — incorrect answer and incorrect support.
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PA Keystone Algebra 1: Rolando's Driving, Anchor Set A-8

26. Continued. Please refer to the previous page for task explanation,

Rolando buys at least 8.5 but no more than 11 gallons of gas each week, The
price of gas has ranged from $2.40 to $2.65 per gallon each week,

C. Write an inequality to model all of the possible amounts of money (m) Rolando
spends on gas each week. Show or explain all your work.

g. gg«ﬂ”on‘joggqséx é__" 3o."ons ot

205

$2HOL X LGS
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PA Keystone Algebra 1: Rolando's Driving, Anchor Set A-9

Rolando drives at least 40 miles but less than 60 miles each week.

SR T - :

A, Graph the compound inequality represenﬁng all of the possible distances Rolando could drive for 8 weeks.

R

Rolando's'D.r'iving for8 Wééks

40 80 120 160 200 240 280 320 360 400 440 480 520 560 600
Miles Driven

B. Explaiﬁ why you chose to use the symbols you used for the endpoints of the compound inequality in part A.

t ieast signifies a greater than or equal sign so that would have tobe a
olid point. Less than means an open circle

118 /1000

s e TR LI e

Rolando buys at Iéast é.S but no more than 11 gallons of gas each week. The price of gas has ranged from $2.40 to $2.65 per gallon each week.
C. Write an inequality to model alf of the possible amounts of money {m) Rolando spends on gas each week. Show or explain all your worlk.

] .
8.5<sx<11
2.40sm=<2.65

21/1000

1 A. 1 point — correct answer.
B. 0.5 point — correct but incomplete explanation (“solid point” and “open circle” not

clearly associated with the numbers they represent.
C. 0 points — incorrect answer and incorrect support.
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PA Keystone Algebra 1: Rolando's Driving, Anchor Set A-10

Rolando drives at least 40 miles but less.than 60 miles eachweek.

A. Graph the compound inequality representing all of the possibie distances Rolando could drive for 8 weeks.

-t -t e : >
40 80 120 160 200 240 28 320 360 400 440 480 520 56 600
Miles Driven

B. Explain why you chose to use the symbols you used for the endpoints of the compound inequality in part A.

= - l
used the closed and open dots at the-ends of my line because
Rolando did not drive less than 320 miles in 8 weeks and he could not
have driven more than 480. Rolando could have driven 320 miles or
under 480.

21111800

Rolando buys at least 8.5 but no more than 11_gallons of gas each week. The price of gas has ranged from $2.40 to $2.65 per gallon each wesek.

C. Write an inequality to model alt of the possible amounts of money {m) Rolando spends on gas each week. Show or explain all your work.

al

| m=s204 :

Rolando could spend greater than or equal to $20.40 on gas
but no more or equal to than$29.15 on gas
m=29.15

121/1000

1 A. 1 point — correct answer.

B. 0 points — insufficient explanation for any credit. The symbols used must be
clearly associated with the correct corresponding endpoints; in this response it is unclear

which “dot” goes with which number.

C. 0 points — incorrect answer(s) and no support is given. Note that a correct verbal
explanation of the inequality, i.e. “twenty dollars and forty cents is less than or equal to m is
less than or equal to twenty-nine dollars and fifteen cents”, would be given answer credit.

Page 2-172



PA Keystone Algebra 1: Rolando's Driving, Anchor Set A-11

16. Rolando drives at least 40 miles but less than 60 miles each week,

A. Graph the compound inequality representing all of the.possible distances
Rolando could drive for 8 weeks.

Rolando’s Driving for 8 Weeks

@-0
-ttt
40 80 120 160200 240 280 320 360 400 440 480 520 560 600

Miles Driven

B. Explain why you chose to use the symbols you used for the endpoints of the
compound inequality in part A.

| Chose sha shadud in circle o, beeause

That represents = sumool bhien Rxplans
Lovrdo's WMIes Yrad e ot least olroe,

L cvoe the 0 becau® twy gumbiies
g <60 AN conneared YL 4w dots.

1 A. 0 points — incorrect answer.
B. 0.5 point — correct but incomplete explanation (“shaded in circle” is not clearly

associated with 40).
C. 0 points — incorrect answer and incorrect support.
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PA Keystone Algebra 1: Rolando's Driving, Anchor Set A-11

16. Continued. Please refer to the previous page for task explanation.

Rolando buys at least 8.5 but no more than 11 gallons of gas each week. The
price of gas has ranged from $2.40 to $2.65 per gallon each week.,

C. Write an inequality to model all of the possible amounts of money (m) Rolando
spends on gas each week. Show or explain all your work.

e

2 3 us <1 ‘8‘; 1o 1z 13

(lo\ac&O RO

~n

25 + 8.6m = Wl +2.4H0
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PA Keystone Algebra 1: Rolando's Driving, Anchor Set A-12

Rolando drives at least 40 miles but less than 60 miles each week.

A. Graph the compound inequality representing all of the possible distances Rotando could drive for 8 weeks.

Rolando's Driving for 8 Weeks

Il ] ] ] J -1 i &= 4 3 i 4 ] ) 1

- T T 1 ~T T @ ™ =t T ad ¥ T L
40 80 120 160 200 240 280 320 360 400 440 480 520 560 600
Miles Driven ’

B. Explain why you chose to use the symbols you used for the endpoints of the compound inequality in part A.

= R . 5
| chosed the closed circle because she could drive that disance or more
50 itis greater than or equal to, which means i have to use the closed
circle.

15171000

Rolando buys &t least 8.5 but no more than 11 gallohs of gas eéch week. The price of gas has.ranged from $2.40 to $2.65 per gallon each week.
C. Write an inequality to model! all of the possible amounts of money () Rolando spends on gas each week. Show or explain all your work.

: 8.5<11x240<2.65

18/1000

1 A. 0.5 point — correct endpoints.
B. 0 points — insufficient explanation ( “closed circle” is not clearly associated with

320).
C. 0 points — incorrect answer and incorrect support.
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PA Keystone Algebra 1: Rolando's Driving, Anchor Set A-13

16. Rolando drives at least 40 miles but less than 60 miles each week.

A. Graph the compound inequality representing all of the possible distances
Rofando could drive for 8 weeks.

Ly w560

Rolando’s Driving for 8 Weeks
¥

Attt Pt —>
40 80 120 160 200 240 280 320 360 400 440 480 520 560 600

Miles Driven

3204 % % &4%g

B. Explain why you chose to use the symbols you used for the endpoints of the
compound inequality in part A.

INS\W ok \ead Wedd wasn ok e o Ny ‘%a’{-\\m\ SQ
\.\S\’\U\

" Sad o4 gk N0 s, | g ok fee daistd dirtve

O iy,
i M‘X‘Q \‘\Q Aoesv\’r AVNL DN:).LC U rales eocn mgek

Minimal 1

A. 0 points — incorrect answer (“440” instead of “480”).

B. 0 points — incorrect explanation (explains the signs, not the open and closed
symbols used for the endpoints).

C. 0 points — incorrect answer and incorrect support.

MINIMAL UNDERSTANDING IS AWARDED for showing understanding of linear
inequalities in part B.
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PA Keystone Algebra 1: Rolando's Driving, Anchor Set A-13

16.  Continued. Please refer to the previous page for task explanation.

Rolando buys at least 8.5 but no more than 11 gallons of gas each week. The
price of gas has ranged from $2.40 to $2.65 per gallon each week.

C. Wiite an inequality to model all of the possible amounts of money (m) Rolando
spends on gas each week. Show or explain all your work.

athon || 0TV ey
X285 we\\ Qrecter bqg g ehued,
b COM‘(;Q\O,_? @‘h h“éd\&

> ___\ s -—_%
o 2% 2 F B

) Beor Sopm®d oot Paak W '%e’e: ok Weoe3.%
e ~fe lees=epchn weake. Tan, \e e¥s o moce, Unem, 11,7l
doold paret M, agks ‘.\_,:)“?*" ne tort, Then  \ Lom Dined Wi
T equofTons. X olwons  qpes e A widde Voo Wewe %“N:! :
suve. e S osn B senn b e oTeoial -gc\?&\\ms.-
o\ %Mﬁ? Goer \'v:yw oot mbﬂ'e\)\\fwzé SPendy % \nOwQ
. ) N ' K any/ i § s
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PA Keystone Algebra 1: Rolando's Driving, Anchor Set A-14

Rolando drives at least 40 miles but less than 60 miles each week.

A. Graph the compound inequality representing all of the possible distances Rolando could drive for 8 weeks.

S DT

Rolando's Drlviﬁﬁ fm"'8 Wee'ks' —

-4+ttt >
40 80 120 160 200 240 280 320 360 400 440 480 520 560 600
Miles Driven

B. Explain why you chosg to use the symbols you used for the endpoints of the compound inequality in part A.

ERE

chose this because he dfove at least 40 miles a week but less than 60.

7211080

v

Rolando buyé at least 8.5 but no more than 1;1 galions of gas each week. The price of gas has ranged from $2.40 to $2.65 per gallon each weék.

! €. Wirite an inequality to model all of the possible amounts of money (m) Rolando spends on gas each week. Show or explain all your work.

i 102.65= $26.50 per week

24 /1000

0 A. 0 points — incorrect answer.

B. 0 points — incorrect explanation.
C. 0 points — incorrect answer and incorrect support.
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PA Keystone Algebra 1: Rolando's Driving, Training Set 1 T1-1

Rolando drives at least 40 miles but less than 60 miles each week.

A. Graph the compound inequality.representing all of the possible distances Rolando could drive for 8 weeks.

FYs

I ey
7 i

Rolando's Driving for 8 Weeks

] ] 1 1 . 1 3 L 1 - A Il S
T T U i}

40 80 120 160 200 240 280 320 360 400 440 480 520 560 600
Miles Driven

B. Explain why you chose to use the symbols you used for the endpoints of the compound inequality in part A.
put a fified in point on 320 because 40 times 8 is 320, so over 8 weeks
Rolando will drive at least (which is the same as greater than or equal

o) 320 miles. | chose the empty point on 480 because 60 times 8 is
ﬂso. and over 8 weeks Rolando will drive less than that.

270/1000

joe Ty s LR

Rolando buys at leasf 8.5 but no more th-an 11 galions of gas each week. The price of gas has ranged from $2.40 to $é.65 per'ga.ilon ea;:h week
C. Write an inequality to mode! all of the possible amounts of money {m} Rolando spends on gas each week. Show or explain all your work.

$20.4=x<$29.15

14 /1000
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PA Keystone Algebra 1: Rolando's Driving, Training Set 1 T1-2

16. Rolando drives at least 40 miles but less than 60 miles each week.

A. Graph the compound inequality representing all of the possible distances
Rolando could drive for 8 weeks.

'Rolando’s Driving for 8 Weeks

e e s e S e S
40 80 120 160 200 240 280 320 360 400 440 480 520 560 600

Miles Driven

B.. Explain why you chose to use the symbols you used for the endpoints of the
compound inequality in part A,
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PA Keystone Algebra 1: Rolando's Driving, Training Set 1 T1-2

16.  Continued. Please refer to the previous page for task explanation.

Rolando buys at least 8.5 but no more than 11 gallons of gas each week. The
price of gas has ranged from $2.40 to $2.65 per gallon each week.

C.. Write an inequality to model all of the possible amounts of money (m) Rolando
spends on gas each week. Show or explain all your work.
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PA Keystone Algebra 1: Rolando's Driving, Training Set 1

16.. Rolando drives at least 40 miles but less than 60 miles.each week,

T1-3

Rolando could drive for 8 weeks.,

o ‘Rolando’s Driving for 8 Weeks _,

A.. Graph the compound inequality representing all of the possible distances .

Miles Driven

SX\FZ B and R & L\f‘a%
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40 80 120 160 200 240 280 320 360 400 440 480 520 560 600

compound inequality in part A,
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B. Explain why you chose to use the symbols you used for the endpoints of the
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PA Keystone Algebra 1: Rolando's Driving, Training Set 1 T1-3

16. Continued. Please refer to the previous page for task éxplanation_.

Rolando buys at least 8.5 but no more than 11 gallons of gas each week. The
price of gas has ranged from $2.40 to $2.65 per gallon each week,

C. Wiite an inequality to model all of the possible amounts of money (m) Rolando
spends on gas each week. Show or explain all your work,

m 2 8.5{(2.10)
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PA Keystone Algebra 1: Rolando's Driving, Training Set 1

Rolando drives at least 40 miles but less than 60 miles each week.

T1-4

A. Graph the compound inequality representing all of the possible distances Rolando couid drive for 8 weeks.

T

Rolando's Driving for 8 Weeks

—1 Il iy Il 1. 1

1 o
L "

— Il
T =

Gl ——. Il L 1
- = T

40 80

120 160 200 240 280 320
Miles Driven

360 400 440 480 520 560 600

B. Explain why you chose to use the symbols you used for the endpoints of the compound inequality in part A.

IThe dots on the number line should be filled in because the number of
miles Rolando drives could be et LEAST 40, and at MAXIMUM 60. The
number of miles he drove could have been 40, because it is less than,
lor equal to 60, and the number of miles he drove could have been 60,
Pecause that number is greater than, or equal to 40.

32871000

Rolando buys at least 8.5 but no more than 11 gallons of gas sach week. The price of gas has ranged from $2.40 to $2.65 per gallon each week.

C. Write an inequality to model all of the possible amounts of money {m) Rolando spends on gas each week. Show or explain all your work.

7]

85 =m=11

871000
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PA Keystone Algebra 1: Rolando's Driving, Training Set 1

16. Rolando drives at'least 40 miles but less than 60 miles each week.

T1-5

| A. Graph the compound inequality representing all of the possible distances
Rolando could drive for 8 weeks.

Rolando's Driving for 8 Weeks

. . 1,
e —f—} o—-r—-r-=1=-§—+—+—o->
40 80 120 160 200 240 280 320 360 400 440 430 520 560 600

Miles Driven
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B. Explain why you chose to use the symbols you used for the endpoints of the
compound inequality in part A.
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PA Keystone Algebra 1: Rolando's Driving, Training Set 1

16. Continued. Please refer to the previous page for task explanation.

T1-5

Rolando buys at least 8.5 but no more than 11 gallons of gas each week, The
price of gas has ranged from $2.40 to $2.65 per galion each week,

C. Write an inequality to model all of the possible amounts of money (m) Rolando
spends on gas each week. Show or explain all your work,
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PA Keystone Algebra 1: Rolando's Driving, Training Set 1 T1-6

16. Rolando drives at least 40 miles but less than 60 miles each week.

A. Graph the compound inequality representing all of the possible distances
Rolando could drive for 8 weeks.

Rolando’s Driving for 8 Weeks ,
<t Gt >

40 80 120 160 200 240 280°320 360 400 440 480 520 560 600
Miles Driven

AZR0 o % £ 30
RZ 210 T %L WR0

B. Explain why you chose to use the symbols you used for the endpoints of the
compound inequality in part A,
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PA Keystone Algebra 1: Rolando's Driving, Training Set 1 T1-6

16.  Continued. Please refer to the previous page for task explanation,

Rolando buys at least 8.5 but no more than 11 gallons of gas each week. The
price of gas has ranged from $2.40 to $2.65 per gallon each week.

C. Write an inequality to model all of the possible amounts of money (m) Rolando
spends on gas each week. Showwor explain all your work.
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PA Keystone Algebra 1: Rolando's Driving, Training Set 1 T1-7
16. Rolando drives at least 40 miles but less than 60 miles each week.
A. Graph the compound inequality representing all of the possible distances
Rolando could drive for 8 weeks.
Rolando’s Driving for 8 Weeks
p——f——t—>

80 120 160 200 240 280 320 360 400 440 480 520 560 600
| Miles Driven

B. Explain why you chose to use the symbols you used for the endpoints of the
compound inequality in-part A.

T chose to use +Hhose symbols
because Roando drives less a0 Jo
miles cach wedk and o gt Tge, T
multipled 60 by %, becarde o Hhe
3 weeks,
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PA Keystone Algebra 1: Rolando's Driving, Training Set 1 T1-7

16. Continued. Please refer to the previous page for task explanation.

Rolando buys at least 8.5 but no more than 11 gallons of gas each week. The
price of gas has ranged from $2.40 to $2.65 per gallon each week.

C. Wrile an inequality to model all of the possible amounts of money (m) Rolando
spends on gas each week. Show or explain all your work.
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PA Keystone Algebra 1: Rolando's Driving, Training Set 1

16. Rolando drives at least 40 miles but less than 60 miles each week.

T1-8

A. Graph the compound inequality representing all of the possible distances
Rolando could drive for 8 weeks.,

Rolandd’s Driving for 8 Weeks

<<ttt >
40 80 120 160 200 240 280 320 360° 400 440 480 520 560 600

Miles Driven

B. Explain why you chose to use the symbols you used for the endpoinis of the
compound inequality in part A,
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PA Keystone Algebra 1: Rolando's Driving, Training Set 1 T1-8

16. Continued., Please refer to the previous page for task explanation,

Rolando buys at least 8.5 but no more than 11 gallons of gas each week, The
price of gas has ranged from $2.40 to $2.65 per gallon each week.

C. Write an inequality to model all of the p(;ssible amounts of money (m) Rolando
spends on gas each week. Show or explain all your work.
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PA Keystone Algebra 1: Rolando's Driving, Training Set 1 T1-9

16. Rolando drives at least 40 miles but less-than 60 miles each week.

- A.. Graph the compound inequality representing all of the:possible distances
Rolando could drive for 8 weeks.

4O =¥

X¢ -
O LN\ Rolando’s Driving for 8 Weeks

A § At —— e i —>
40 80 120 160 200 240 280 320 360 400 440 480 520 .560 600
Miles Driven
-\ »

320 =2 ¥
YLD

B. Explain why you chose to use the symbols you used for the endpoints’ of the
compound inequality in part A.
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PA Keystone Algebra 1: Rolando's Driving, Training Set 1

16.  Continued. Please refer to the previous page for task explanation,

T1-9

- Rolando buys at least 8.5 but no more than 11 gallons of gas each week. The
price of gas has ranged from $2.40 to $2.65 per gallon each week.

C. Write an inequality to model all of the possibie amounts of money (m) Rolando
spends on gas each week. Show or explain all your work.

@0 Q.0 £ w21}

RN

§.5+2.40 $“<.a 2.bb
$20.46 2915

‘ 70.40.5%x= 2015

W} i -3

90,40 29 15
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PA Keystone Algebra 1: Rolando's Driving, Training Set 1

16. Rolando drives at least 40 miles but less than 60 miles each week.

T1-10

Rolando could drive for 8 weeks.

Rolando’s Driving for 8 Weeks

. 1 | SN | 1 . | ]
YL L ] L L) ]

Miles Driven

224130

‘A. Graph the compound inequality representing all of the possible distances

40 80 120 160 200 240 280 320 360 400 440 480 520 560 600

compound inequality in part A.

-\:b@_ 0.
RO

B. Explain why you chose to use the symbols you used for the endpoints of the
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PA Keystone Algebra 1: Rolando's Driving, Training Set 1 T1-10

16. Continued. Please refer to the previous page for task explanation.

— o me—t —ry . ——

Rolando buys at least 8.5 but no more than 11 gallons of gas each week. The
price of gas has ranged from $2.40 to $2.65 per gallon each week,

C. Write an inequality to model all of the possible amounis of money (m) Rolando
spends on gas each week. Show or explain all your work., .
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PA Keystone Algebra 1: Rolando's Driving, Training Set 2 T2-1

Rolando drives at least 40 miles but less than 60 miles each week.

A. Graph the compound inequality representing all of the possible distances Rolando could drive for 8 weeks.

Pl LI g

Rolando's Driving for 8 Weeks

)

- 1 1 1 1 ) ! 1 y - i L il Pany 1 1 1 ro
40 80 120 160 200 240 280 320 360 400 440 480 520 560 600
Miles Driven

B. Explain why you chose to use the symbols you used for the endpoints of the compound inequality in part A.

e A
used a solid dot to represent = because it said at least, and | used
n open dot to represent < because it said less than.

120/ 1000

Rolando buys at least 8.5 but no more than 11 gallons of gas each week. The price of gas has ranged from $2.40to $2.65 per galion each week.
C. Write an inequality to model all of the possible amounts of money {m) Rolando spends on gas each week. Show or explain all your work.

8.572.40=20.4
1172.65=29.15
204 < m < 2915

41/1000
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PA Keystone Algebra 1: Rolando's Driving, Training Set 2 T2-2

16. Rolando drives at least 40 miles but less than 60 miles each week.

A. Graph the compound inequality representing all of the possible distances
Rolando could drive for 8 weeks.

9 Rolando’s Drlvix}g for 8 Weeks

] [ [3 3. 3 3 i ) 1 1 4 I L 1] |
YL ) ¥ 1 ] i ) 1] 4 Lo

40 80 120 160 200 240 280 320 360 400 440 480 520 560 60

Miles Driven

HOXx Q= 320, LOX®= YO,

B. Explain why you chose to use the symbols you used for the endpoints of the
compound inequality in part A.
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PA Keystone Algebra 1: Rolando's Driving, Training Set 2 T2-2

16. Continued. Please refer to the previous page for task explanation.

Rolando buys at least 8.5 but no more than 11 gallons of gas each week. The
price of gas has ranged from $2.40 to $2.65 per gallon each week.

C. Write an inequality to model all of the possible amounts of money (m) Rolando
spends on gas each week. Show or explain all your work.

C M4 B5RL yy 2,68 af least .5
pO ware Yok (|

s = Eromf 24 $0 3 2,65

@ZHO‘?.S <M< Y "?ﬁ?.bS)
v
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PA Keystone Algebra 1: Rolando's Driving, Training Set 2 T2-3

16. Rolando drives at least 40 miles but less than 60 miles each week.

A. Graph the compound inequality representing all of the possible distances-
Rolando could drive for 8 weeks.

‘Rolando’s Driving for 8 Weeks

-+ttt p——tttt—t>
40 80 120 160 200 240 280 320 360 400 440 480 520 560 600

Miles Driven

3
[

B. Explain why you chose to use the symbols you used for the endpoints of the
compound inequality in part A. ‘ S:
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PA Keystone Algebra 1: Rolando's Driving, Training Set 2 T2-3

16. Continued. Please refer to the previous page for task explanation,,

Rolando buys at least 8.5 but no more than 11 gallons of gas each week. The
price of gas has ranged from $2,40 to $2.65 per gallon each week,

C. Wirite an inequality to model all of the possible amounts of money (m) Rolando
spends on gas each week. Show or explain all your work,

RO,]aﬂcLo wi bvy
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PA Keystone Algebra 1: Rolando's Driving, Training Set 2

16. Rolando drives at least 40 miles but less than 60 miles each week.

T2-4

A. Graph the compound inequality representing all of the possible distances
Rolando could drive for 8 weeks.

Rolando’s Driving for 8 Weeks

Attt O | >
40 80 120 160 200 240 280 320 360 400 440 480 520 560 600
Miles Driven

-B. Explain why you chose to use the symbols you used for the endpoints of the
compound inequality in :srt A.O ° end Pd +, l use dq close {
0 e =7 ' H0 miles.
dot becouse he drove ot le st ng 1255

) (dve diore G40 byt noth
Meening he oc:;a :m oopeﬂ c‘,oivh?r the. other

ead poink, T did phs becaws® he drove “les
'!.’1\6‘/\“,,(\04.’ vp 10, 60 miles,
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PA Keystone Algebra 1: Rolando's Driving, Training Set 2 T2-4
16. Continued. Please refer to the previous page for task explanation.,
Rolando buys at least 8.5 but no more than 11 gallons of gas each week. The

. price of gas has ranged from $2.40 to $2.65 per gallon each week.

TO 7(."? we ovt howv 'fﬁ’\ V;} l\l+?£ﬂ ey:IH' "\
as 2 S

Sf)eﬁés O"r;l buy ' befuecen 8.5 =nd
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08 gas, Ther & V51 lowes
l.lfl()..bec;au_se_, +his 5 by
o€ méoey Le coudd possCly

C. Write an inequality to model all of the possible amounts of money (m) Rolando
spends on gas each week. Show or explain all your woik. ’
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PA Keystone Algebra 1: Rolando's Driving, Training Set 2 T2-5

Rolando drives at least 40 miles but less than 60 miles each week.

A. Graph the compound inequality representing all of the possible distances Rolando could drive for 8 weeks,

Relandoe’s Driving for 8 Weeks

e, } } : t + t t 3 S + + e
40 80 120 180 200 240 280 320 380 400 440 480 520 5860 600
Miles Driven

B. Expléin why you chose to use the symbols you used for the endpoints of the compound inequality in part A.

Egi.,

| used a closed circle at the point 40 because | knew it had to be a

greater than or equal to sign because of the words 'at least'. | also
hose an open circle atthe point 480 because of the words ‘less than'.

21111000

Rolando buys at least 8.5 but no more than 11 gallons of gas each week. The price of gas has ranged from $2.4Q to $2.65 per gallon sach week.

C. Write an inequality to model ali of the possible amounts of money {m) Rolando spends on gas each week. Show or explain all your worlk,

.'f'?j
$20.402m=%$29.15

e lowest number of gallons that Rolando buys is 8.5 and the lowest

as price is $2.40. So, lmultiplied 8 5 and 24 together to get the lowest
mount of money he could spend on gas each week. Then, [took the
highest number of gallons, 11, and muitiplied that by the highest gas

rice which is 2.65. The lowest amount of money is $20.40, and the
ighest amount of money is $29.15. The problem explains that he buys
at lest 8.5 gallons so i used a greater than or equal to sign, and that he
uys no more than {11-gallons, so | used a less than or equal to sign to
vrite my inequality.

600 1 1000
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PA Keystone Algebra 1: Rolando's Driving, Training Set 2 T2-6

16. Rolando drives at least 40 miles but less than 60 miles each week.

A. Graph the compound inequality representing all of-the possible distances
Rolando could drive for 8 weeks.,

Rolando’s Driving for 8 Weeks:

<ttt t r  t 4t >
40 80 120 160 200 240 280 320 360 400 440 480 520 560 600
Miles Driven

B. Explain why you chose to use the symbols you used for the endpoints of the
compound inequality in part A.

trem Lidee. hod  breaosk

the
‘i“\. cick oeany equal 1o
o\q (ko Qrc.\e, mmnﬁ I@’(‘/\al\ Ofg(QQ(Q(
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PA Keystone Algebra 1: Rolando's Driving, Training Set 2 T2-6

16.  Continued. Please refer to the previous page for task explanation.

-t

Rolando buys at least 8.5 but no more than 11 gallons of gas each week, The
price of gas has ranged from $2.40 to $2.65 per gallon each week..

C. Wirite an inequality to model all of 'the possible amounts of money (m) Rolando
spends on gas each week, Show or explain all your work,

m=83¢li= 740406
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PA Keystone Algebra 1: Rolando's Driving, Training Set 2 T2-7

16. Rolando drives at least 40 miles but less than 60 miles each week.

A. Graph the compound inequality representing all of the possibie distances
Rolfando could drive for 8 weeks.

Rolando’s Driving for 8 Weeks

At il emep—)—— | )
40 80 120 160 200 240 280 320 360 400 440 480 520 560 600
Miles Driven

B. Explain why you chose to use the symbols you used for the endpoints of the
compound inequality in part A.

T chose o dezed drde for ine
POvE  wheve - SON D olondo dnves ot
\eost 4O wiles becavse O \eQSE :negﬁ 5
6\’30&8% Yron oc eduold Y0, And RS S
equol 10, e enc\po*maf hee io ‘oe cloted
bdcaute F OO e oy nomeere L chow

endpo T+ apyd €35

a*%ag?eg O :ﬁiﬁm wYJoeg:K abepcau);,e Tt soys
1€85 Non Wiy means ik 19 not equa)
3o dhay omec, L 1B only €38 than
L,
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PA Keystone Algebra 1: Rolando's Driving, Training Set 2 T2-7

16. Continued. Please refer {o the previous page for task explanation,

Rolando buys at least 8.5 but no more than 11 gallons of gas each week. The
price of gas has ranged from $2.40 to $2.65 per gallon each week.

C. Wiite an inequality to model all of the possible amounts of money (m) Rolando
spends on gas each week. Show or explain alt your work.

- %.85exe ]
%Jé(zoq& ey ¢ {2 (093
20,40 % £ 29 15
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PA Keystone Algebra 1: Rolando's Driving, Training Set 2

Rolando drives at least 40 miles but less than 60 miles each week.

T2-8

A. Graph the compound inequality representing all of the possible distances Rolando could drive for 8 weeks.

s i H
Zarallsal Il A Pdnd ?
T " "Rolando’s Driving for 8 Weeks )
40 80 120 160 200 240 280 320 360 400 440 480 520 560 600
Miles Driven

B. Explain why you chose to use the symbols you used for the endpoints of the compound inequality in part A.

=

chose to use a closed circle as an endpointat 320 because sence
Rolando drives at least 40 miles a week in eight weeks he will drive a
minimum of 320 miles. Rolande drives at least 320 miles in sight weeks
50 the closed circle shows tha the minimum amount of miles he drives
ncludes 320. 1 used an open circle as an endpoint at 480 because
sence Rolando drives less then 60 miles in a week he will drive less
then 480 miles in eight weeks. The open circle shows that Roland will
idrive at most just under 480 miles in eight weeks.

5§32 /1000

Rolando buys at least 8.5 but no more than 11 galions of gas each week: The price of gas has ranged from $2.40 to $2.65 per gallon each week.

C. Wirite an inequality to model all of the possible amounts of money (m) Rolando spends on gas each week. Show or explain all your work.

x<29.15andx 220.4

he most Roland can spend on gas each week is 29.15 so x has to be
equal to or less then 29.15, but the least he can spend on gas is 204 so
is equal to or greaterthen 204

196 /1000
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PA Keystone Algebra 1: Rolando's Driving, Training Set 2

16. Rolando drives at least 40 miles but less than 60 miles each week;

12-9

A. Graph the compound inequality representing all of the possible distances
Rolando could drive for 8 weeks.

Rolando’s Driving for 8 Weeks

&1 1 ] 1 1 1 1 -
< T i

40 80 120 .1£I50 200 2:10 280 320 360 400 440 480 520 560 600
Miles Driven

B. Explain why you chose to use the symbols you used for the endpoints of the
compound inequality in part A.

Since Rolando drives odleast 70 mMiies each givek

‘\e d(’}\)@5 Qq'u“' Ya of 3““\:‘6( 'J"M qo m?"lfa
eoch ek Ec(qa.{ $eo orgw fhan s

gended by fHilled dot on. the numbes Jine,

repre
P . L0 miles eanch weel
wip E8s S ’ Z

Roloando Jded 4
Mo Jese Jhen TS represenied by an open

é@q or, ‘”—b nvMbd J;‘Y\-“—.,
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PA Keystone Algebra 1: Rolando's Driving, Training Set 2 T2-9

-16.  Continued. Please refer to the previous page for task explanation.

Rolando buys at least 8.5 but no more than 11 gallons of gas each week. The
price of gas has ranged from $2.40 to $2.65 per gallon each week,

C. Wirite an inequality to model all of the possible amounts of money (m) Rolando
spends on gas each week. Show or explain all your work. )

&6 2.4 2 F20, 4o

) 412,52 $2A45
m/& ¥2a,19

[~z $20.90

‘ m<¥24a.19
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PA Keystone Algebra 1: Rolando's Driving, Training Set 2 T2-10

Rotlando drives at least 40 miles but less than 60 miles sach week.

A. Graph the compound inequality representing all of the possible distances Rolando could drive for 8 weeks.

Zahellsd Ut on il 2

' Rolando's Driving for 8 Weeks

i — et ——} Il Il 1. 1 1 1 1 Il Il Il 1 1 |
‘= T U i LI

T T T T T T T T T
40 80 120 160 200 240 280 320 360 400 440 480 520 560 600
Miles Driven

B. Explain why you chose to use the symbols you used for the endpoints of the compound inequality in part A.

e ?
For the first part it says at least 40. This is saying that he can go 40 or
more therefore you would use a closed circle. Then it states but less
than 60. This is saying he cannot go 80 but only 59 or less. here you
would use an open cirlce.

241/1000

Rolando buys at least 8.5 but no more than 11 gallons of gas each week. The price of gas has ranged from $2.40 to $2.65 per gallon each week.

C. Write an inequality to mode! all of the possible amounts of money () Rolando spends on-gas-each week. Show or explain all your work.

=
204 <x<29.15

8.5x$240=204
11x$2.86=29.15

45 /1000
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Subject: Algebra 1

Name

Number

item: Rolando's Driving

Score

Notes

T2-1

T2-2

T2-3

T2-4

T2-5

T2-6

T2-7

T2-8

T2-9

T2-10
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PSSA and Keystone Exams

Fall 2015
Item Writing and Handscoring Training Workshops

Keystone Algebra 1

Rolando’s Driving

Handscoring
Practice Set

*Responses in this set do not have true scores. Apply scores based on
scoring criteria.
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PA Keystone Algebra 1: Rolando's Driving, Practice Set P-1

16. Rolando drives at least 40 miles but less than 60 miles each week.

A. Graph the compound inequality representing all of the possible distances
Rolando could drive for 8 weeks.

Rolando's Driving for 8 Weeks

. 3 [l ] 1 ] 1 ¢ X L - ] P L L ] >

e It § & 14 i 4

40 80 120 160 200 240 280 320 360 400 440 480 520 560 600
Miles Driven

Ho - % 2220 x50
GGo-% 2u%9

B. Explain why you chose to use the symbols you used for the endpoints of the
compound inequality in part A,

%@CC&L\&C e rules drwen codd 'O equol Yo or
\eeo / dreoxer fhao Hhe Fwo nomoers anean .
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PA Keystone Algebra 1: Rolando's Driving, Practice Set P-1

16.  Continued. Please refer to the previous page for task explanation.

Rolando-buys at least 8.5 but no more than 11 gallons of gas each week. The
price of gas has ranged from $2.40 to $2.65 per gallon each week.,

C. Write an inequality to model all of the possible amounts of money (m) Rolando
spends on gas each week. Show or explain all your work, )

% .S -2 -H0LOu
.5 - 2.65= $ 22.3

= el
$20.4eme 2455 ¢ 2.l52 242
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PA Keystone Algebra 1: Rolando's Driving, Practice Set P-2

15. Rolando drives at least 40 miles but less than 60 miles each week.

A. Graph the compound Inequality representing all of the possible distances
Rolando couild drive for 8 weéks. '

Rolando’s Driving for 8 Weeks

407,80 120 160 200°240 280 320 360 400 440 480 520 560 600
Miles Driven

B. Explain why you chose to use the symbolg you used for the endpoints of the
compound inequality in part A. ’

T used 0 C\OKA ¢ivek 40 plat e
%2320 PO DECOUSS % g & 320 so I¥
INOLREL 220. T Chose 0N open Creie
10 POT X24%0 VeCOUE % h0S Yo be 1eSS
o R0 acd IO 430, S0y 1 doestd
WORE e 4%0.
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PA Keystone Algebra 1: Rolando's Driving, Practice Set P-2

15. Continued. Please refer to the previous page for task explanation.

spends on gas each week. Show or explain all your work,

20.40<mM4 29,16

Rolando buys at least 8.5 but no more than 11 gallons of gas each week. The
price of gas has ranged from $2.40 to $2.65 per gallon each week.

| - C.. Write an inequality to model all of the possible amounts of money (m) Rolando

\[\\GYL-
% = adlons.
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PA Keystone Algebra 1: Rolando's Driving, Practice Set P-3

16. Rolando drivés at least 40 miles but less than 60 miles each week.

A. Graph the compound inequality representing all of the possible.distances
Rolando could drive for 8 weeks.

Rolando’s Driving for 8 Weeks

et ——1—>
40 80 120 160 200 240 280 320 360 400 440 480 520 560 600

. wsMiles Driven

B. Explain why you chose to use the symbols you used for the endpoints of the
compound inequality in part A.

Tolte Hose Spabels betagrertl ol dicle e Hot -H, urer
ls ohe oF Huy Nanbes or g hutpber 1y bedhentn,
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PA Keystone Algebra 1: Rolando's Driving, Practice Set P-3

16. Continued. Please refer to the previous page for task explanation.

Rolando buys at least 8.5 but no more than 11 gallons of gas each week, The
price of gas has ranged from $2.40 to $2.65 per gallon each week.

C.. Write an inequality to model all of the possible amounts of money (m) Rolando

spends on gas each week. Show or explain all your work. i
7.5 JL4r

JaoMo < a4, 15 e 707
Lt iyendt Hyles Agonf
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PA Keystone Algebra 1: Rolando's Driving, Practice Set P-4

15. Rolando drives at least 40 miles but less than 60 miles each week.

A. Graph the compound inequality representing all of the possible distances
Rolando coild drive for 8 weeks.

Rolando’s Driving for 8 Weeks
up «2
D e e e o e S S e e

40 80 120 160 200 240 280 320 360 400 440 480 520 560 600
Miles Driven

B. Explain why you chose to use the symbols you used for the endpoints of the
compound inequality in part A.

L crote oA oge Arde G Yo WP‘““M‘
6 pile Lo begamse s Dol &““‘@
at leatd Liomiles, “T&w“‘*‘ﬂ {_:: «hf;;f?l
drivg. Up or Trere nles ﬁ?i he '::owlc‘ detie
Fhe op cirehe shows, c\c;sec’ exrele Gor
Ho mles o more. T chose & e 1+ s e deveg
’*%e/ C(‘dpol"\\" G‘A‘ m“ﬂ L‘na b(C . l"zc‘wo € AN
less, Py GOmiles | g0 Fhods 34579 "5 L
Jesp e » g, wahich & w
o0, dave 'ess o\ 6O PeS, W \& Lo -

) \Lb o\osc,é, ‘{‘cl'e- ;P.d‘.co\ . 3 LY} WQ@[ da
L e Secle, iy vl oL meant oA\ &
‘—éo m?les o lﬂ-’iﬁl (ﬁ,k;ck W‘d be \nw(ﬂ&x"
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PA Keystone Algebra 1: Rolando's Driving, Practice Set P-4

15. Continued. Please refer to the previous page for task explanation.

t

Rolando buys at Jeast 8.5 but no more than 11 gallons of gas each week. The
price of gas has ranged from $2.40 to $2.65 per gallon each week.

C. Write an inequality to model all of the possible amounts of money (m) Rolando
spends on gas each week. Show or explain all your work.

e\lr \enst = &
Yo arg, Yo~ z

L%5 ey W\

‘rﬁ"‘ﬂe’ N

o

Beto -85 T
/

Y<%57 \W\ = )(Llul71

\
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PA Keystone Algebra 1: Rolando's Driving, Practice Set

P-5

16. Rolando drives at least 40 miles.but less than 60 miles each week.

A. Graph the compound inequality representing all of. the possible distances
Rolando could drive for 8 weeks.

Rolando’s Driving for 8 Weeks

oL 1 ) (] [ 1 1 Ly TN e, ) UG A, g B
g Pt st

40 80 120 160 200 240 280 320 360 400 440 450 520 560 600
Miles Driven

N0LX<Y Y

~ = EPECEE

B. Explain why you chose to use the symbols you used for the endpoints of the -
compound inequality in part A. )

Gine the questdn said
“utlegst! Rorthe Girstgart, L used e
s Sy mbol oot when the proble,

Sttt “ lessthon” T osed £ for
"\/\Q, SQ_,CG_m\ FQ’A\ |
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PA Keystone Algebra 1: Rolando's Driving, Practice Set P-5

16. Continued. Please refer to the previous page for task explanation.

Rolando buys at least 8.5 but no more than 11 gallons of gas each week. The
price of gas has ranged-from $2.40 to $2.65 per gallon each week.

C. Write an inequality to model all of the possible amounts of money (m) Rolando
spends on gas each week. Show or explain all your work,

%‘\f\wﬁ .5

O merethan | |

]omﬂj méc =240
\/‘:’l‘()h{g-l WY‘ i AR

101\Lm<‘2q16 %5

L\
qq 1o
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PA Keystone Algebra 1: Rolando's Driving, Practice Set P-6

16. Rolando drives at least 40 miles but less than 60 miles each week.

A. Graph the compound inequality representing all of the possible distances
Rolando could drive for 8 weeks.

Rolarido’s Driving for-8 Weeks

-ttt >
40 80 120 160 200 240 280 320 360 400 440 480 520 560 600

Miles Driven

B. Explain why you chose to use the symbols you used for the endpoints of the
compound inequality in part A.

L cnoye e elosed arcle for Y0 et cone
i+ s o Lot 30 F con 22 Yo or

Bfeodff. T chase O cgen arcde fv

L 60 ecute 45 Jut(ess thon and
nbﬂf\ms e\se.,
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PA Keystone Algebra 1: Rolando's Driving, Practice Set P-6

16. Continued. Please refer to the previous page for task explanation.

Rolando buys at least 8.5 but no more than 11 gallons of gas each week. The
price of gas has ranged from $2.40 to $2.65 per gallon each week.

C. Write an inequality to model all of the possible amounts of money (m) Rolando
spends on gas each week. Show or explain all your work.

o easdave mPiog
e day melizioey
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PA Keystone Algebra 1: Rolando's Driving, Practice Set P-7

15, Rolando drives at least 40 miles but less than 60 miles each week.

A. Graph the compound inequality representing all of the possible distances
Rolando could drive for 8 weeks.

Rolando’s Driving for 8 Weeks

40 80 120 160 200 240 280 320 360 400 440 480 520 560 600
Miles Driven

B. Explain why you chose to use the symbols you used for the endpoints of the
compound ingquality in part A.

gues vouw Yo Much
Qoland o Artues W oNe wee .
TA0 VW0ads o Voow e, e
Oeden S0 Yuweens , So YOw
oA Aoy Ho oy § ond gexr Ao,
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Wek M,
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PA Keystone Algebra 1: Rolando's Driving, Practice Set P-7

15.  Continued. Please refer to the previous page for task explanation.

Rolando buys at least 8.5 but no more than 11 gallons of gas each week. The
price of gas has ranged from $2.40 to $2.65 per gallon each week.

C. Write an inequality to mode! all of the possible amounts of money (m) Rolando
spends on gas each week. Show or explain all your work.

X 2. o1
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PA Keystone Algebra 1: Rolando's Driving, Practice Set P-8

16. Rolando drives at least 40 miles but less than 60 miles each week;

A. Graph the compound inequality representing all of the possible distances
Rolando could drive for 8 weeks.

x23%O end w<HIO

Rolando’s Driving for 8-Weeks

P 1 L] L 1 1 [}

40 80 120 160 200 240 280 320 360 400 440 480 520 560 600

Miles Driven

B. Explain why you chose {0 use the symbols you used for the endpoints of the
compound inequality in part A.

T chose +he Shedod in Grdde oler 330 beum,
“+ could ndde 320 wles. T chose He open
Circle. overH%o Becewse he hed +o dtiie JesS
then GO miles o Wk S0 H¥0 s not incheded
in the toteal omount oF miles.
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PA Keystone Algebra 1: Rolando's Driving, Practice Set P-8

16.  Continued. Please refer to the previous page for task explanation.

Rolando buys at least 8.5 but no more than 11 gallons of gas each week. The
price of gas has ranged from $2.40 to $2.65 per gallon each week.

C. Write an inequality to model all of the possible amounts of money (m) Rolando
spends on gas each week. Show or explain all your work.

A0 <. %= 20,40

Y SrF. 52 3.93
.40 x N Mo HO

AT ER TN
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PA Keystone Algebra 1: Rolando's Driving, Practice Set P-9

16. Rolando drives at least 40 miles but less than 60 miles each week.

A. Graph the compound inequality representing all of the possible distances
Rolando could drive for 8 weeks. ,

Rolando’s Driving for 8 Weeks

€ el —————>
0 80 120 160 200 240 280 320 360 400 440 480 520 560 600
Miles Driven

B. Explain why you chose to use the symbols you used for the endpoints of the
compound inequality in part A.

T ustd oo tlord or shade d
Grole Breaust Rolande drives at
least Y6 miles, so it ceuld be
a:\a\ 40 or %rfﬁd‘e'r than (,_>_.:).
T w2 d an open circle becouse
Rolandoe drives less Yhan 40 miles,
So Y cafnet be eo(_uQi' TOo LL)
Ro\an da  drives betwee n HO and

60 miles a wtek =e He [ine conneeks
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PA Keystone Algebra 1: Rolando's Driving, Practice Set P-9

16. Continued. Please refer to the previous page for task explanation.

Rolando buys at least 8.5 but no more than 11 gallons of gas each week. The
price of gas has ranged from $2.40 to $2.65 per gallon each week.

C. Write an inequality to model all of the possible amounts of money (m) Rolando

spends on gas each week. Sﬁm{ﬁmr—_
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PA Keystone Algebra 1: Rolando's Driving, Practice Set P-10

Rolando drives at least 40 miles but less than 60 miles each week.

A. Graph the compound inequality representing all of the possible distances Rolando could drive for 8 weeks.

-at.l L L i ] L 1 | I H L L B,
) ) 1 t ' hagl
40 80 120 160 200 240 280 220 380 400 440 480 520 580 800

ivliles Driven

B. Explain why you chose to use the symbols you used for the endpoints of the compound inequality in part A.

| have choosen these symbols becatse the equation looks like the following : 320sx 2480 . This
is a less than equation, so itis an and statment. It is a closed dot because it includes the numbers
320 and 480 into the equation. The line connects these two points because the values that make
the equation true are all in between 320-480.

335 f 1000 ~—

Rolando buys at least §.5 but no more than 11 gallons of gas each week. The price of gas has ranged from $2.40 to $2.65 per
gallon each week.

C. Wiite an inequality to model all of the possible amounts of money () Rolando spends on gas each week. Show or explain all
your work.

$2040xm= $29.15

Lsing this you see that Rolando can wilt spend between the highest and the lowest amount on gas if
he drives between 8.5-11 miles. $2040 represents the lowest amount of money Rolando can
spend when buying only 8.5 gallons of gas, while $29.15 represents the maximum amount of
money he will have to spend when obtaining 11 gallons of gas.

357 f 1000
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PRACTICE SET*
Subject: Algebral Item: Rolando's Driving

Name

Number [Score Consensus Notes

P-1

p-2

P-3

P-4

P-5

P-6

P-7

P-10

* Responses in this set do not have true scores. Apply scores based on scoring criteria.
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PSSA and Keystone Exams

Fall 2015
Item Writing and Handscoring Training Workshops

Keystone Algebra 1

Rolando’s Driving

Handscoring

Training Sets 1 and 2
True Scores/Annotations
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PENNSYLVANIA KEYSTONE ALGEBRA 1 Training Workshop Rolando’s Driving T1

Page

Score

Description

2

A. 1 point — correct answer.

B. 1 point — complete explanation.

C. 0.5 point — partially correct answer (one sign error, “<” instead of “<”), no
support is given. -

A. 1 point — correct answer.

B. 1 point — complete explanation (includes “blemishes”).

C. 2 points — correct inequality and complete support (note that the support for
the upper extreme is verbal).

A. 1 point — correct answer.
B. 1 point — complete explanation.
C. 0.5 point — incorrect inequality and correct but incomplete support.

0 points — incorrect answer.
1 point — correct explanation, based on this student’s graph in part A.
0 points — incorrect inequality and no support.

1 point — correct answer.

.1 point — complete explanation (consider “x < 59” equivalent to “x < 60”). Note
also that “does not surpass 60” would include 60, but this student clearly “self-
corrects” to indicate that 60 is not included.

C. 2 points — correct inequality and complete support.

o> owp

A. 1 point — correct answer.
B. 1 point — complete explanation.
C. 1 point — incorrect inequality, complete support.

0 points — incorrect answer.
0 points — insufficient explanation for any credit (nothing about closed/open).
0 points — incorrect inequality(s) and incorrect support.

ow>

A. 1 point — correct answer.

B. 0 points — incorrect explanation.

C. 0.5 point — incorrect inequality, correct but incomplete support (extremes are
not identified).

A. 1 point — correct answer.

B. 0 points — incorrect explanation (inequality symbols only, not endpoints). Note: this
would NOT get minimal understanding because the inequalities are incorrect.

C. 1.5 points — partially correct inequality (one sign error, “2” instead of “<”), complete
support.

10

A. 1 point — correct answer.

B. 0 points — incorrect explanation.

C. 0.5 points — partially correct inequality (one sign error, “>” instead of “2"),
incorrect support.
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PENNSYLVANIA KEYSTONE ALGEBRA 1 Training Workshop  Rolando’s Driving T2

Page | Score Description
A. 1 point — correct answer.
1 3 B. 0.5 points — correct but incomplete explanation (like SG-9).
C. 1.5 points — partially correct answer (one sign error) and complete support.
A. 1 point — correct answer.
2 3 B. 1 point — complete explanation.
C. 1 point — no credit for answer (inequality needs to be simplified), complete
support.
A. 0 points — incorrect answer.
3 1 B. 1 point — complete explanation (consider “352" a blemish).
C. 0 points — incorrect.
A. 1 point — correct answer.
4 4 B. 1 point — complete explanation.
C. 2 points — correct answer and complete support.
A. 0 points — incorrect answer.
5 2 B. 1 point — correct explanation.
C. 1.5 points — partially correct answer (one sign error), complete support.
A. 0 points — incorrect answer.
6 O B. 0 points — incorrect explanation.
C. 0 points — incorrect answer and support.
' A. 1 point — correct answer.
7 4 B. 1 point — complete explanation.
C. 2 points — correct answer and complete support.
A. 1 point — correct answer.
8 3 B. 1 point — compete explanation.
C. 1 point — correct answer, the support is insufficient for any credit.
A. 1 point — correct answer.
9 3 B. 1 point — complete explanation.
C. 1 point — no credit for the inequality (no “and”), complete support.
A. 0 points — incorrect answer.
10 2 B. 1 point — complete explanation (consider “only 59 or less” a blemish).
C. 1 point — no credit for the answer (2 sign errors), complete support.
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PSSA and Keystone Exams
Fall 2015

Item Writing and Handscoring Training Workshops

Keystone Algebra 1

Handscoring
Nonscore Codes



PENNSYLVANIA NONSCORABLE CODES

For PSSA Reading, Science, and Mathematics and all Keystone Open-ended Items
(items with zero as a valid score point):

Nonscoreable | Definition/Example/Notes
Code

B — Blank Completely blank response. This includes responses that:

e Are completely erased (so that words are unreadable)

e Are completely crossed out (so that words are unreadable)

e Online responses that consist solely of “white space” (e.g., spaces, tabs, returns)

R — Refusal Response indicates a refusal to attempt the task. This includes:

e | don’t care; I’'m not taking this test; This is stupid; | won’t do it; you can’t make me
answer this question

e [don’t know; IDK; we never learned this; X; NA

e Unrelated song lyrics/rap lyrics/poetry (e.q., the lyrics to Hotel California in answer to
a writing prompt asking whether backpacks should be allowed in class)

e Intentionally off-task response (e.g., a detailed description of what the student ate
for breakfast that morning in answer to a question about Mozart’s childhood)

This also includes responses that consist solely of scribbles, random keystrokes (yyyyyyy,
av:aeoiahvb;e, hhrrttuuvv), indecipherable writing/keystrokes (swensts mengetstets
arawnstets) emoticons, stray marks, doodles, drawings, circles, underlines, a couple of
random letters (not a word), copying the question and/or test directions, or other evidence
that no attempt was made to address the task.

K — Off Response makes no reference to the item or (if applicable) the passage provided, but does
task/topic not seem to constitute an intentional refusal.

If any part of the response relates to the item in any way, score the response.

F — Foreign Responses written entirely in a language other than English.
Language
Note that mathematics responses may still be scoreable if they also contain mathematical
language (numbers, operators, etc.) that can be assessed by the rubric.

Also note that a Spanish language version of the test is available for students for
mathematics and science assessments. These are scored by qualified Spanish-speaking
scorers.

U - lllegible This category includes:

e Responses that are completely illegible due to poor handwriting.*

e Online or typed responses that are incoherent due to consisting of random strings of
words that are not clearly a Refusal or Off Topic (e.g., best day school teacher
inspired so | rode my car)

* If a response is difficult to read, every effort is made to read the response. Multiple people,
including a Team Leader and/or a Scoring Director, will attempt to decipher the response,
and the original answer document will be reviewed if necessary. If, ultimately, only a portion
of the response is legible, that verbiage will be scored on its own merits.

Note: In reading, copied irrelevant text receives a score of 0.

Note: Responses that consist of a couple of words and do not represent a complete thought (e.g., I think that,
Ramps are) receive a score of 0.

Note: Crossed out, but legible/partially legible, responses are scored according to the rubric based on whatever
verbiage is legible.
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